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Question: 1 

The rains along the western coast of India are 

(A) Monsoonal 

(B) Cyclonic 

(C) Convectional 

(D) Orographic 

Ans: D 

Orographic 

Question: 2 

Indian monsoon is marked by seasonal shift caused by 

(A) Great uniformity of temperature 

(B) Differential heating of land and sea 

(C) Cold winds of Central Asia 

(D) None of these 

Ans: B 

Differential heating of land and sea 

Question: 3 

Which city has the longest day in the month of June? 

(A) Bangalore 

(B) Delhi 

(C) Madras 



 

(D) Mumbai 

Ans: A 

Bangalore 

Question: 4 

On which of the following states, retreating monsoon has more effect? 

(A) Tamil Nadu 

(B) Punjab 

(C) Orissa 

(D) West Bengal 

Ans: A 

Tamil Nadu 

Question: 5 

The climate of India is 

(A) Sub tropical monsoon 

(B) Savanna type of climate 

(C) Tropical climate 

(D) Sub tropical climate 

Ans: C 

Tropical climate 

 

 


